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. Pseudoplastic flow is typically exhibited by

A) Emuleion

B) Suspension

C) Polymers in solution
D) Ointment

- Which of the following electromagnetic radiation has maximum energy?

A) Gamma rays
B) X-ravs

C) IR radiation

D) Radio waves

. Dewar flasks are used in

A) Rotary drying

B) Microwave drying
C) Freeze drying

D) Vacuum drying

- An unequal distribution of colour on the surface of the tablet is called

A) Peeling
B) Picking
C) Mottling
D) Moulding

. Cold place as per IP indicates storage at

A) 0 degree Celsius
B) 2-8 degree Celsius
C) 8-25 degree Celsius

D) 25 degree Celsius

. Particle size of 1-30 microns may be obtained using

-



A) Fluid energy mill

B) Cutter mill

C) Hammer mill
D) Roller mill

7. The biological half-life of procaine in a patient was 30 min and its V, was estimated
to be 60 litres. The total clearance rate of procaine i

A) 1.88 litres/min

B) 1.38 litres/min

C) 11.58 litres/min

D) 5.88 litres/min

8. Post marketing surveillance comes under of clinical trials.
A) Phase
B) Phase Il
C) Phase III
D) Phase IV

9. The Drug and Magic Remedies (Objectionable Advertisement) Act was enacted in
A) 1948
B) 1954
C) 1919
D) 1985

10. The numerical designation of propellant butane is
A) A-108
B) A-17
C) A-31
D) A-11

11. Creaming in emulsion is governed by
A) Newton's law
B) Gay-Lussac’s law
C) Stoke’s law



D) Charle’s law

12. The causative organism for syphilis is
A) Treponema palladium
B) Vibrio cholera
C) Clostridium titanium
D) Bacillus pertussis

13. Covaxin is a vaccine.
A) Inactivated whole virus type
B) Protein sub-unit type
C) Viral vector type
D) Nucleic dcid type

14, Bloom strength for hard gelatin capsules ranges from
A)30t050g
B) 50t0 100 g
C) 100t0 150 g
D) 20010250 g

15. DOP test (dioctyl phthalate test) is usually used to determine
A) Filter type |
B) Filter efficiency
C) Filter integrity
D) Filter compatibility

| 16. Meaning of Class 100 area is
i A) Particle count in air is not more than 100 per cubic foot |
" | larger size
( B) Particle count in air 1s not more than 100 per cubic foot of 5
’ larger size
~ 7 C)Particle count in air is not more thari 100 per cubic ¢m of 0.5 micron size or

larger size




D) Particle count in air is not more than 100 per cubic metre of 0.5 micron size or

larger size

17, Acetvlcholine and physostigmine are examples of type of interaction.

A) Svnergism
B) Addition
C) Antagonism

D) Potentiation

18. Myasthenic crisis is differentiated from the cholinergic crisis in myasthenia gravis
through the use of
A) Physostigmine
B) Edrophonium
C) Neostigmine
D) Pyridostigmine

19. Neostigmine effectively antagonizes muscular relaxation produced by
A) Tubocurarine
B) Gallamine
C) Pancuronium
D) All of the above

20. Antidote of atropine 18
A) Pralidoxime
B) Neostigmine
C) Physostigmine
D) None of gbove

21. Timolol reduces the intraocular pressure by which mechanism of action?
'A) Muscarinic agonist -
B) Anticholinestarase
C) Carbonic anhydrase inhibitor

D) Beta-adrenoceptor antagonist




e

22. Oxytocinis a
A) Pentapeptide
B) Heptapeptide
C) Octapeptide
D) Decapeptide

. Which of the following acts as mucolytic?
A) Bromhexine

_ B) Ephedrine

C) Guaiphenesin

-2
[0%]

D) Noscapine

24, Which of the following is highly selective COX-1antagonist?
A) Diclofenac
B) Ketorolac
~ C) Rofecoxib
D) Salicylate

25. Drug of choice in epilepsy with pregnancy
*A) Phenytoin |
B) Lamotrigine
C) Ethosuximide
D) Phenobarbiton

26. Drug of choice in bacteroides infection is
A) Penicillin G
B) Niridazole
C) Metronidazole
D) Tetracyclin

27. Which of the following is a vitamin D analogue used in psoriasis?
A) Caleitriol
B) Ergocalciferol
C) Resorcinol




D) Cholecalciferol

28. In Haemophilus influenzae infection, which of the following antibiotics is
preferred
A) Amoxicillin
B) Cefixime
C) Cefuroxime
D) Tetracych’.ueA

29. Phosphodiesterase inhibitors are used as
"A) Vasoconstrictors
B) Vasodilators
C) Anti-arthritics
D) Antacids

30. Butoxamine is
A) Selective B] agonist
B) Selective B2 agonist |
C) Selective B1 antagonist '
D) Selective B2 antagonist

31. Lactulose is a
A) Bulk laxative
B) Faecal softener

C) Osmotic laxative

D) Stimulant purgative

32. Magnesium aluminium silicate is used as
A) Oral rehydration salt

B) Absorbent

C) Antimotility agent

D) Antiremeticagent —— —— - - —
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33.45 g of glucose (molar mass is 180 g,;,’mal)"is'ﬁis&iﬁa 8 500 ¢ of water, the
molality of the solution is
A)0.2
B) 0.4
C)o.s
D) 0.8

34. The molecule that has zero dipole moment is
A) NH;
B) H:O
C) BCL
D) SO,

sl
h

- If an elimination reaction produces more highly substituted alkene, the reaction is

said to follow

A) Markonikov’s rule
B) Saytzeff s rule

C) Micheal’s rule

D) Hoffmann’s rule

36. Which conformational form is more stable for cyclohexane?
A) Chair
D) Boar
C) Twist boat
D) Half chair

37. Each member of the alkene series differs from the preceding member by one
additional carbon atom and
A) 1 hydrogen atom
B) 2 hydrogen atoms
C) 3 hydrogen atoms

D) 4 hydrogen atoms e

38. The radiation sources for fer-infrared region is

7




A) Incandescent lamp
B) Nemnst glower
C) Globar sources

D) Mercury lamp

39. Which transition requires the highest energy?
A)n—o* i
B) n— H*
C) G — o
D)n—o*

40. In normal phase column chromatography, which class of compound is eluted first
A) Carbohydrate
B) Hydrocarbon
C) Primary alcohol
D) Primary amine

41. Crystalline solids are in nature.
A) Orthotropic
B) Anisotropic

C) Isotropic
D) None of these

42. Invert sugar is

A) Galactose
! B) Mannose
I' C) Fructose
L D) Hydrolytic product of sucrose

43, Metabolic syndrome caused by impaired transport of tryptophan and other neutral
amino acid in kidneys and intestines is known as ‘
A) Hodgkin’s disease

~ B) Wilson’s disease
C) Hartnup’s disease

D) Wolman's disease




46.

47,

. Carr—Price reaction is used to detect

A) Vitamin E
B) Vitamin Bi:
C) Aspartic acid
D) Vitamin A

. Hexokinase is classified as a

A) Oxidoreductase enzyme
B) Transferase enzyme
C) Hydrolase enzyme

D) Lyase enzyme

Cholesterol contains which of the following?
A) 1 double bond and 1 OH group

B) 2 double bond and 1 OH group

C) 2 double bond and 2 OH groups

D) 1 double bond and 2 OH groups

Chemical name of hydralazine 1s
A) 4-Hydrazinophthalazine
B) 1-Hydrazinophthalazine
C) N, N-Diaminothalazine

D) Phthalic hydrazine

48, The basic ring present in amiodarone is

49. As recommended by WHO, the ORS should contain NaCl per litre of water.

A) Benzothiazole
B) Benzopyrole
C) Benzofuran
D) Phenothiazine

La¥
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A) 3.
B) 1.
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o) 3.
D)

g
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50. Stratified cork is characteristic of
A) Ergot
B) Senna
C) Cinchona
D) Rauwolfia

51. Which of the alkaloid 1s liquid in nature?
A) Quinine
B) Caffeine
C) Nicotine
D) Berberine

52. Kedde’s test is used for the identification of
A) Isothiocyanide glycoside
B) Cardiac glycoside
~ C) Flavonoid glycoside
D) Anthraquinone glycoside

53. Rutin is an example of
A) Tﬁtezp.enoi-& glycoside
B) Steroid glycoside
Q) Flavonoid glycoside
D) Diterpene glycoside

54. The main terpenoid Present in eucalyptus is
A) Cineol
B) Eugenol
C) Geraniol

D) Terpeniol ——

35. Indian gum is obtained from

10




A) Astragalus gummifer |
B) Acacia arabica
C) Gelidium amansi

D) Solanum tuberosum

56. Which of the following radioactive isotopes are used in biosynthesis tracing
techniques:

A) Hand C*

B) H'and C*

C) H¥and C*

D) H?and C*

57. Glyeyrrhizic acid is
A) Steroidal saponin
B) Triterpenoidal saponin
C) Triterpenic acid

D) Sepogenin

58. Good manufacturing practices for ISM drugs as per Drug & Cosmetic Act, 1940
are listed under
A) Schedule M
B) Schedule N
C) Schedule T
D) Schedule Z

59. CioH,.0 is the chemical formula for
A) Citral
B) Carvone
C) Menthol
D) Linalool

60. The'solvent used 1s for the determination of water-soluble extractive value of
crude drugs as per IP is
A) Distilled water

11




B) Chloroform-water
€) Alcohol-water
B)I-'Steﬁlc water

sk
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Ql. Vinblastine and Vincristine act by: ¥
A. Interfering with synthesis of transfer RNA
B. Inhibition of fragmention of DNA
B4 Binding to protein
D. Incorporating into folic acid metabolism

Q2. Which of the following drug will aggravate bronchial asthma:
A. Amphetamine
B. Morphine
8 Propranolol
D. Tubocurarine

Q3. All of the following are examples of SSRI except:
A. Fluoxetine
B. Fluvoxamine
£, Doxepin
I Paroxetine

Q4. Which of the following ACE inhibitor is not a prodrug:
A. Quinapril
B. Ramipril
s Banezipril
D. Lisinopril

Q5. Omalizumab. a drug used for bronchial asthma acts by:
A. Neutralizing IgE
B. Preventing release of mediators
C. Preventing AG:AB reaction
D. Antagonising released mediators

Q6. The mechanism of action of mebendazole is:
A. Stimulation of acety! choline receptors at neuromuscular junction
B. Selectively inhibiting the microtubule synthesis
e Inhibition of dihydrofolate reductase
D. Blocks Thiamine transport

Q7. Therapeutic effect of a drug can be measured by a formula:

Maximum toxic dose/minimum effective dose
Minimum non-toxic dose/maximum effective dose
Maximum non-toxic dose/minimum effective dose
Maximum non-toxic dose/maximum effective dose

oSO w>



Q8. The antiviral drug, Maraviroc is a: 5
A. Integrase inhibitor
B. Protease inhibitor
s Fusion inhibitor
D. CCRS5 inhibitor

Q9. Which of the following imidazole is systemic:

A. Fluconazole
B. Miconazole
G. Ketoconazole
D. Voriconazole

Q10. Cabergoline, a prolactin inhibitor is potent:
A. D1 antagonist
B. D1 agonist
L. D2 agonist
D, D2 antagonist

Q11. Second generation Cephalosporins have a higher sensitivity towards:

A. Gram positive
B. Gram negative
C. Both Gram positive and Gram negative
D. None of these
Q12. Topotecan is a:
A. Microtubule damaging agent
B. Topoisomerase-2 Inhibitor
. Topoisomerase-1 Inhibitor
D. Pyrimidine antagonist

Q13. In a new drug development the time required period for preclinical studies is:
A. 3 -5 years
B 3 - 6 years
C. 2-4years
D 0.5 -2 years

Q14. Isoniazid consumption induces:

A. CYP2D6
B. CYP3A
C. CYPZE]
D. CYPLA



Q15. The action of G,, a G protein receptor, on the effector is: ¥
A. Adenyl cyclase inhibition
B. Ca*" Channel Inhibition
G Phospholipase C activation
D. K* Channel opening

Q16. lignified trichomes are characteristic of:

A. Cannabis
B. Artemisia
Cs Belladonna
D. Nux vomica

Q17. Alexendrian Senna is:

Cassia angustifolia
Cassia obovata
Cassia acutifolia
Cassia excels

oo wp

Q18. Arabin is the principal constituent of:

A. Gum acacia
B. Tragacanth
C. Guar gum
D. Gum karaya

Q19. Withanolides are steroidal lactones found in:

A. Kalmegh

B. Glycyrrhiza
G Ashwagandha
D. Dioscorrea

Q20. Acid. iodine and saponification values are used to determine purity of:
A. Fixed oils
B. Essential oils
C. Bothaand b
D Neither a nor b

Q21. Rhubarb belongs to the family:
A. Lamiaceae
B Apocynaceae
C. Polygonaceae
D Lauraceae



Q24

Q25

Q27

Q28.

. Quassia wood is mostly adulterated with:

A.

B
o
D

Brucea antidysentrica
Cassia angustifoila
Cinnamomum zeylanicum
Cephaelis ipecacuanaha

. Anisocytic stomata are present in:

A.

B.
C.
D.

Senna

Digitalis

Belladonna
Coca

. An example of N-glycoside is:

A.
B.
C.
D.
. Glycyrrhizin is a glycoside in which a sugar molecule is condensed with:
A.

B.
04
L.

Adenosine
Sinigrin
Rhein-8-glucoside
Aloin

Anthraquinone
Flavone
Triterpene
Sterol

. What are known as balsams:

COowp»>

. Fruits which are derived from plants belonging to Umbiliferae are all of the type:
A.

B.
C.
D.

dnw e

resins dissolved in volatile oil

a mixture of volatile oils with sesquiterpenes

resins dissolved in water

polysaccharide mixed with volatile oil

Cremocarp
Pericarp
Epicarp
Mesocarp

The oil cells of clove are of the type:

Schizogenous
Lysigenous
Schizolysigenous
None of the above



Q29. A microscopic examination of a culture isolate revealed spherical bodies with a Smooth outline
growing in long chains. Identify the micro organism:

Staphylococcus aureus

Streptococcus pyogenes

Rhizopus stolonifer

Bacillus subtilis

oOw,

Q30.  Choose the correct key intermediate for the bio-synthesis of C6-C3 units, which serves as a
precursor for the biosynthesis of amino acid:

Shikimic acid
Pyruvic acid
Dehydro qunic acid

o0 Wy

Mevalonic acid

Q31. Which of the following are Pharmacodynamic methods for the estimation of bioavailability:
Acute Pharmacological response

Therapeutic response

Both (A) and (B)

None

oo Wy

Q32. In case of topical corticosteroids estimation of bioavailability can be made by:

A.  Skin blanching
B. EEG reading
C. ECGreading
D.

Pupil diameter

Q33. Which of the following is a USP dissolution type - I apparatus:

A. Rotating paddle

B.  Rotating basket

C.  Reciprocating cylinder
D. Rotating cylinder

Q34. Which of the following is/are official drug compendia:
Pharmacopoeia of India '
British pharmacopoeia

Both (A) and (B)

None

oow>



Q35. Which of the following is/are used as water proofing material during sugar coating Process:

A. Shellac

B. Ethyl cellulose
C. Silicones

D. All the above

Q36. For tablets weighing 120 mg or less, the weight variation limit is:

A. +10%
B. +73%
& +5%
D. +15%

Q37. Weathering process of glass involves:

Extraction of weakly bound alkali from the glass
Formation of white deposit of alkali carbonate
Loss of brilliance

All the above

UOwp

Q38.Which of the following can be used as absorbants in case of eutectic mixtures:

A. Magnesium carbonate
B. Kaolin

G. Both (A) and (B)

D. None

Q39. Hard drug is the one which:

A. Is resistant to biotransformation
B. Has long biological half life

L Is excreted unchanged in urine
D. Has all the above characteristics

Q40. De-ethylation of phenacetin leads to the formation of:

A. Paracetamol
B. 7/ P-Phenetidine
C. Both

D None

Q41. Which of the following capsule sizes has smallest capacity:

A. 0
B. 5
L. ]
D. 000



Q42. Aerosol is the reverse of:

A.
B.
G
L.

Q43. One grain is equal to:

oCaow»

Emulsion
Liquid foam
Smoke
Solid foam

30 mg
60 mg
90 mg

lg

Q44. Which of the following is/are applied with-out rubbing:

OO wpE

Calamine lotion
Camphor liniment
Both (a) and (b)
None

Q45. Wurster process is also known as:

A.

B.
e
D.

Q46. Protophilic solvents are:

A.

B
C-
.

Rotator plate process
Air suspension process
Coacervation process
Pan coating

Acidic in nature
Basic in nature
Neutral

None

Q47. Nernst equation is used to measure:

A.

B.
C.
D.

Current
Conductance
Potential
Resistance

Q48. What is the reagent used for diazotization:

Cow»

NaNOQO, + Dil. HCI
KNO, + Dil. H,SOy4
Zn + Dil. H,SO4
None



Q49. How many grams of NaOH are required to prepare 100 ml of 1M splution of NaOH:

A. 8g
B. 4¢
C. 04¢g
D. 40 g

Q50. Which reaction has same units of K as units of rate of reaction:
First order

Second order

Third order

Zero order

o0 W

Q51. Which of the following are epimeric pairs:
Glucose and fructose
Lactose and maltose
Galactose and mannose
Glucose and mannose

oo wp

Q52. Cream of tartar is:

Aluminium hydroxide gel
Sodium potassium tartrate
Pot. Bitartrate

Pot. Citrate

oo Wy

Q53. Which of the following antibiotics inhibit nucleic acid synthesis:
A. Rifampicin
B. Penicillin
B Tetracycline
D, Chloramphenico

Q54. Pyridine - 3- carboxylic acid is:

A. Vit. Bl
B. Vit.B2
C. Vit B3
D. Vit B7

Q55. The chemical name of penicillin G is:

Benzyl penicillin
Phenoxymethyl penicillin
Phenoxy ethyl penicillin
None

caow»>



Q56. If initial conc. of reactants is doubled, the half life period of the rgaction also doubles, the order of

reaction is:
A. First order
B. Zero order
. Second order
D. None

Q57. A plot of log K v/s 1/T helps to calculate:

Order of reaction

Rate constant of the reaction

Energy of activation and frequency factor
None

oNwp

Q58. For adsorption of a gas on solid, the plot of x/m verses log P is linear with slope equal to:

A. n

B. 1/n

C. LogK
D. K

Q59. Which of the following is a stronger acid:
A. Oxalic acid
B. Malonic acid
C. Succinic acid
D. Glutaric acid

Q60. On prolonged heating with HI, glucose forms:
n-hexane

Gluconic acid
Saccharic acid

None

oS0Ow»>
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10.

11.

M. Pharm Entrance Test - 2016

Choose the right combination:
A) Quinine, antimalarial, isoquinoline alkaloid
B) Reserpine, antihypertensive, indole alkaloid
C) Quantitative microscophy, stomatal number,
myrrh

D) Stearic acid, salicylic acid, fatty acid

is used as rat poison.
A) European Squill (B) Red Squill
C) Indian Squill (D) American Squill
Lupinine and Anabasine alkaloid is
biosynthesized by
A) Leucine
C) Phenyl alanine

(B) Lysine
(D) Isoleucine

In Vasaka which type of stomata are present
A) Anisocytic (B) Diacytic
C) Anomocytic (D) Actinocytic

Thalleoquin test gives
A) Emerald Green (B) Blue
C) Yellow (D) Red

Sodium picrate solution is used in
A) Kellarkilliani test  (B) Baljet test
C) Lrgal test (D) Hager’s test

Amygdalin on hydrolysis gives

A) Benzoic acid + Glucose + HCN
B) Benzaldehyde+Glucose+HCN
C) Benzyl alcohol +Glucose +HCN
D) None of the above

Uva-ursi is the synonyms of
A) Black berry (B) Bearberry
C) Vanilla (D) Visnaga

A Glycoalkaloid
P. contains sulphur in addition to nitrogen in its
molecule.

Q. is glycosidic in nature.

R. can be hydrolysed to an alkaloid.

5. always contains endocyclic nitrogen in its
molecule.

Choose the correct option.

A) P&R (B) Q&P

C) Q&R (D) s&Q

Goldbeater’s skin test is used to detect the
presence of which one of the following classes of
compounds?

A) Tannins

C) Glycerides
Eugenol is present in
A) Fennel

(C) Tulsi

(B) Steroids
(D) Resins

(B) Coriander
(D) Cardamom

12
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14.

15.

16.

17.

18.

19;

20.

. Lignified trichomes is identical character of
A) Ailunthus Glandulosa
B) Phytolacce Decandra
C) Phytolacca America
(D) All

Which of the following drugs is a triterpenoid
containing root?

A) Valerian (B) Brahmi

C) Satavari (D) None of the above

Quinoline alkaloids are biosynthesized via which
one of the following pathways

A) Shikimic acid-tyrosine

B) Shikimic acid-tryptophan

C) Shikimic acid-cathinone

D) Shikimic acid-phenylalanine

Which of the following ergot alkaloids is water
soluble and shows blue fluorescence?

A) Ergosine (B) Ergotamine

C) Ergocristne (D) Ergometrine

The mechanism of action of Paclitaxel is

A) Bind to DNA through intercalation between
specific bases and block the synthesis of new
RNA or DNA, cause DNA strand scission

B) Mitotic spindle poison through the
enhancement of tubulin polymerization

C) Competitive partial agonist-inhibitor of
estrogen and binds to estrogen receptors

D) S-Phase specific antimetabolite that is
converted by deoxykinase to the
5-mononucletotide

Which of the following anticancer drug purine
analogue?

A) Pentostatin
C) Dacarbazine

(B) Methotrexate
(D) Carboplatin

Which of the following drug used in diagnosis of
Pheochromocytoma
A) Propranolol

C) Phentolamine

Which pair is correct?

A) GABA-B receptor-Baclofen

B) Cental a2 adrenergic-chlormezanone
C) Benzadiazepine-Tizanidine

D) BothB&C

The risk of Digitalis toxicity is significantly
increased by concomitant administration of

A) Triamterene (B) Lidocaine

C) Captopril (D) Hydrochlorthiazide

(B) Phenoxybenzamine
(D) Ergometrine
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21.

22.

23

24,

25.

26.

27.

28.

29.

30.

31.

Select the specific unwanted effect of L-DOPA
A) Dementia (B) Hypertension

C) Dyskinesia (D) Excitotoxicity
Which of the following is true for
antineoplastics?

A) Selective toxicity to cancer cells

B) Kills cells by zero-order kinetics

C) Easy access to cancer cells of any region
D) Easily develop resistance

Cancer-gland is called?
A) Sarcoma
C) Carcinoma

(B) Tumorous
(D) Leukemia

Defficiency of which of the following causes
respiratory distress syndrome?

A) Phosphetidylserine (B) Sphingomyelin

C) Plasmogens (D) Dipalmitoyl lecithin

Simvastatin belongs to

A) HMG CoA reductase inhibitor type of
antilipidemic agents

B) HMG CoA reductase inhibitor type of
anticoagulant agents

C) Fibrate type of anticoagulant agents

D) Fibrate type of antilipidemic agents

Mast cell stabilizer used in asthma
A) Nedoromil (B) Sildenafil
C) Roflumilast (D) Cilostazole

An agent used in Prinzmetal angina has

spasmolytic action which increase coronary

blood supply is

A) Nitroglycerine

C) Timolol
mononitrate

(B) Nifedipine
(D) Isosorbide

There are only rare reports of hepatotoxicity
with currently marketed thiazolidinediones.
A) Ciglitazone (B) Pioglitazone

C) Troglitazone (D) None of above

An organism which has been implicated as a
possible cause of chronic Gastritie and peptic
ulcer is

A) Campylobacterjejuni (B)Escherichia coli
C) Helicobacter Pylory (D) Giardia lamblia

Which drug blocks T-as well as L-type calcium
channels?

A) Nifedipine
C) Diltiazem

(B) Amlodipine

(D) Mibefradil

Which is the right frequency (cm-1) order for

O-H bond IR specrum?

A) Phenols < 1° alcohol < 2° alcohol < 3°
alcohol

32.

33.

34,

35,

36.

37.

38.

39.

40.

41.

B) 1°alcohol > 2°
Phenols

C) Phenols >1° alcohol >2° alcohol > 3°
alcohol

D) 1° alcohol <2° aleohol <3° alcohol <
Phenols

alcohol > 3° alcohol >

Rod of sintered silicon is present in which of
following:

A) Incandescent lamp (B) Nernst glower

C) Globar source (D) Carbon dioxide laser

Which of the following detector of Gas
Chromatography is destructive type?
A) Kathetormeter

B) Argon ionization detector

C) Flame ionization detector

D) Electon capture detector

Which of following HPLC detector is not a Solute
property detector

A) UV-Visible detector

B) Photo diode array detector

C) Fluorescence detector

D) Refractive index detector

Band (peak) separation is:

A) Directly proportional to solvent efficiency
B) Inversely proportional to solvent efficiency
C) Directly proportional to column efficiency
D) Inversely proportional to column efficiency

Choose the correct semi rigid gel used for
exclusion chromatography

A) Sephadex (B) Gelatin

C) Cellulose (D) Alumina

For base line separation value of R (resolution)
A) R>0.5 (B) Rz1.5

C) R205 (D) R<1.5

Which of following source is used in RAMAN
spectrometry?

A) Hydrogen’
C) Xenon are lamp

(B) Deuterium lamp
(D) Helium/neon laser

A litre of water-ethanol solution which contains
1.5 microliters of ethanol has concentration of

ethanol.
A) 1.5ppb (B) 1.5 ppm
C) 1.5ppt (D) None of these

In Polarography, to eliminate migration current
which of following is used

A) NaC1 (B) Kcl

C) NaOH (D) KOH

Diclofenac sodium is assayed by

A) 0.1 M NaOH (B) 0.1 M TBAH
C) 0.1 M NaNO2 (D) 0.1M HCIO4
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42.

43.

44,

45,

46.

47.

48.

49.

Nernst equation is used to measure
A) Current (B) Conductance
C) Potential (D) Resistance

Chemically primaquine is

A) 8[(4~amino-l—methylbutyl)amino]-6-
methoxyquinoline

B) 8[{4-(diethyl amino)-I-methyl butyl} amino]-
6-methoxyquinoline

C) 8[{4-(diethyl amino)-l-butyl} amino] -6-
methoxyquinoline

D) 8[(4-amino~l—methyl propyl) amino] -6-
methoxyquinoline

Karl Fischer reagent used in aquametry is a

solution of

A) Bromine and potassium permagnate

B) Sodium thiosulphate and iodine

€) Sodium nitrite and HCI

D) lIdoine and sulphur dioxide in pyridine and
methanol

In Meerween~Pondorf—Verfy reduction reaction

A) Carbonyl compounds reduced to respective
acid

B) Carbonyl compounds reduced to respective
alcohol

C) Carbonyl Ccompounds reduced to both
respective alcohol and acid

D) None of the above

The disintegration time for sugar tablet is

A) 30 min (B) 45 min

C) 60 min (D) 15 min

Indian Pharmacopoeia is published by the

A) Ministry of health and family welfare

B) Pharmacy council of indai

C) Ministry of human resources and
development

D) AICTE

Select the optimized operating condition for
“Autoclave”

A) 121 Cfor 15-20 min at 15 Ib/sq inch

B) 121 Cfor 15-20 min at 50 Ib/sq inch

C) 171Cfor 15-20 min at 15 Ib/sq inch
D) 151 Cfor 20-40 min 15 Ib/sq inch

As per IP, the disintegration time for enteric
coated tablet is

A) 15 min in distilled water

B) 60 min in simulated intestinal fluid

C) 15 min in simulated gastric fluid

D) 120 min in distilled water

50.

51.

52,

53.

54,

55.

56.

57.

58.

59.

60.

Cam tracks are used in tablet for

A) Feeding the granules

B) Fixing the shape

€) Compressing the granules

D) Guiding the movement of punches

Coulter counter is based on determination of
A) Particle surface area

B) Particle size

C) Particle volume

D) Allof A,B,C

The requirements and guidelines for clinical
trials, import and manufacture of new drugs as
per the Drugs and Cosmetics Rules is given under
Schedule

A) N (B) Y

C) A (D) M

Optimum value of BLOOM STRENGTH should be
A) 50-100 g (B) 100-150 g

C) 150-250¢g (D) more than 250 g
Carr’s index for excellent flow is

A) 5-15 (B) 12-16

C) 1821 (D) > 40

Hausner index is:

A) Poured density + Tapped density

B) Tapped density + Poured density

C) (Tapped -poured) + Tapped density
D) None of the above

Pore size of HEPA filters is
A) 3 micron (B) 0.3 micron
C) 0.03 micron (D) 0.003 micron

Tyndallisation is

A) 800C for 3 days (20 min)
B) 600C for 3 days (20 min)
C) 1200C for 3 days (20 min)
D) None of the above

Validation of moist heat sterilisation is done
using

A) Bacillus subtilis
C) Bacillus niger

(B) Bacillus cogulans

(D) Clostridium
sporogens

The normal creatinine clearance value in humans

is mi/min

A) 100-110 (B) 80-90

C) 150-160 (D) 120-130

Which of the following tests are positive for bile
salts?

A) Hay’s test
C) BothA&B

(B) Patternkofer’s test
(D) None of the above
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